N4 FyY— @ Asada
1\ 7Y — 300, 350, 350M AAEER

BT H 2017/03/01



N4 FyY—
5 7 ) — 300, 350, 350M

@ Asada
AIEKER

Ref.No.| =3— KNo. EiERE B i
1 80178 RATYIARIL F M8x25L B 2
2 81114 [FhEL M8 B 4
3 57120 FETE 1
4 80170 RATMIARIL b M6x40L B 4
5 70152 MmiFHLEE M6 B3 4
6 57119 XY h/\— 1
7 80158 RAFMIARIL b M5x15L B 3
8 81112 [FhEEL M5 23 22
9 57126 RF7 YT hinN— 1
10 84194 R—=ILRFT 1YY 6282Z 1
1 83304 C L &s S-15 1
12 57148 F RV 1
13 BS282 NYEILAS— 1
14 84195 R—=ILRT 25 690222 2
15 57129 F— 5x5x11.5 (k) 1
16 57159 EoEBE=A 1
17 84191 R—JL B-6002-2NSL 1
18 57121 % —i 1
19 84158 R—=ILRF 24 608Z 1
20 81055 UFvy bk M5 —F8 Ay 5
21 57142 AiK 1
22 57143 EEE ¥ 7 bk 1
23 57111 HAEAZL 1
24 80157 NAFUTARIL b M5Xx12L B3 10
25 82280 +M/pal M5x12L A v¥ 1
26 57134 B+ 1
27 80205 NAFUTARIL b M5Xx25L B3 9
28 57133 V—HAF 1
29 57112 HAEAZL 1
30 57102 E@EAH/IN— 1
31 80160 RAFEARIL b M5x20L B 2
32 57104 BiTFEY 1
33 57110 HAEAA L 1
34 57107 AVE 1
35 57139 P IACED 1
36 57108 Ry Fohni— 1
37 81111 [FREE M4 B 4
38 82174 +HRNMRLE MAxX6L B 4
39 58107 DZHKRILE 1
40 81147 FEE M8 B 1
41 80103 NARILF M8X20L ATV 1
42 57115 Ivyia 1
43 83307 C F1E &% S-20 1
44 83088 AFYTEY P6x45L 2
45 83090 AFYLHTEY ©3.5%x45L 2
46 57149 HAEAZL 1
47 57158 HAhEREY 7 1
48 84167 R—=ILRT 1> 6004Z2Z 1
49 57130 NPy 1
50 57156 FSA4To% Tk 1
52 80392 NAFUTIESHAR L M5X10L (KA Y %) 1
55 58504 gy 7 1
56 81025 NAAFY s M12 =58 B% 1
57 80445 RANMTIESHR L M12 X 30L 1
58 80039 NARIL F M8x35L B 2
59 80101 ANARIL M M12x25L B 1
60 80038 NARILF M8x30L B 2

T H 2021/05/24



N4 FyY—
5 7 ) — 300, 350, 350M

@ Asada
AIEKER

Ref. No. a— FNo. e B %

61 58503 HAKRITSHry bk 1
62 81067 UFwv bk M8 —F8 B¢ 2
63 84185 HLT#+OF7— CF10 1
64 81120 [EHEE M10 A vF 1
65 57157 RS Y b M10*1.25 —3& 1
66 57154 F— 6x6x13.5 (k) 1
67 80167 RATMIARIL b Mex25L B 3
68 80166 NATEARIL F Mex20L B 1
69 81113 [FhEE M6 2 4
70 80369 NAFSTIEHI L M8 x 121 1
71 81063 ANAFY S M8 = BES 1
72 80360 NANTIESHA L M6 X 10L 2
73 81062 NATY S M6 —FE B 2
74 SS0574 PS Asada 7L — k 1
75 83352 IS—H—$E 2x4.8L 4
76 SS0558 P300 ##a1R 1 PS300

SS0559 P350 #8581k 1 PS350
77 83352 IN—H—8k 2x4.8L 4

88445 B —IL 1
#H 58713 AMEE (H4A KIS 5 v k) 1
#H 57144 FE—EEX Vi (No. 17~19) 1
#H 57155 8GR Y4 (No. 10~16) 1

H4 K TSHy s

# 58777 (Ne 55~57, 59, 61) x& 1 1

(Ne 2, 58, 60, 62) X% 2

T H 2021/05/24



INA RER

@ Asada

/81 7 — 300, 350, 350M

IS T —

3000) &

£
il .g.uwa

...... ) Aﬁw

o 1
<

ok %

FHFE 2017/03/01



N Y —

/81 7 — 300, 350, 350M

@ Asada
INA REB

Ref.No.| =3— KNo. e B# wE
1 57221 95U TRILE 1
2 57222 NS R 1
3 57205 hS5— 1
4 57204 HhS5— 1
5 58202 Frv 1 FIUNEBRIZHES>TULET,

2013 FLIRTD/NA R (X, 57224 799 LRI
L TLESELY,
6 81113 IFESE M6 B 9
7 80167 RAFUTARIL b M6 x25L B 4
8 57224 vy 1
9 83400 BEANTITEY ©®8x25Lm5 1
10 83398 TITEL ©8x40Lm6 1
11 57203 FIVIEHAEY 1
12 83042 ATYUHTEY ©6x30L 2
13 PS283 EYNEL 1
14 82181 +HEAPMRLE M5x10L B3 4
15 58614 FHEEH /X — 1
16 58606 IS FEHE 1
17 58615 95 v FREK 1
18 88573 $AEk 5/16 4
19 58607 P 4
20 25118 AGIBROHEVRA TS 4
21 80384 NANYTIEHI L M10x25L 4
22 81088 NEFVE M0 —1E B 4
23 81170 ASRA Ty ¥ AS1528 1
24 84335 FALRAESA 4w b 70B-2020 1
25 80168 NATYTARIL b MEX30L B 1
26 57223 YA—LI YTk 1
27 81199 NEFYE M6 750Dt 1
28 81153 TEE M16 A v ¥ 1
29 57212 IJvyia 1
30 80166 AR b MEX20L B 7
31 57210 £+ BOX /83— 1
32 70152 miFEE M6 B 3
33 57232 R7Y5%xv 7 1
34 84115 R—=ILRT7 )25 6002ZZ 1
35 84333 FALAKESA 4wk 70B-1315 1
36 81067 UFvy bk M8 —5& B3 1
37 80401 REAFUTIEDHR L M8 X 20L (#%) 1
38 81221 TES M12 /Mgt B 1
39 81065 ATV E M12 —58 BF 2
40 57227 FYRy IR 1
41 83399 TTEL ©6x20L mb 2
42 57230 HR—rEY 1
43 83348 C Wl &R S-36 1
44 57231 Fy 1
45 83310 C elt&Hs S-40 1
46 84343 A4 LAESA 4w b 70B-4020 1
47 84342 A1 LAESA 4wk 70B-4030 1
49 81166 ASRA KTy ¥ AS4060 1
50 83053 RTYHTEY ©8x36L 1
51 57218 F— 6x6x14.5L (Fh) 1
52 57228 mEETva 1
56 70273 SZAR=ILTFS52 D% PBF12 1
57 81076 INEIRATFY b M12 B3 1
#8 57225 PS350 /N4 X &R (No. 1~13, 23~57) 1

-2 -

T H 2024/12/12




N Y —
N Fyy—

300, 350, 350M

@ Asada

INA REB

Ref No.| =3— FNo. a4 B iwE
#8 58213 INARE =0T 495 yFF (N 1~57) 1
#8 58604 =074 95y FHE No. 12x1,14~22) 1

TEHH 2024/12/12




@ Asada
EXEhER

N Ty —

/81 7 — 300, 350, 350M

HHEH 2022/12/15



N Ty —

/81 7 — 300, 350, 350M

@ Asada
EXEhER

Ref.No.| =3— FNo. EIREA 8 i
1 80162 NATUTARIL b MEX12L B 4
2 81113 FhESE M6 B3 10
3 19722 C82Fa—TITv¥y 3
4 S$S0573 PS Asada ¥—JL 1
5 57302 E—H Hh/— 1
6 80032 ANARILF M8x15L B 4
7 81114 FafEs M8 B 8
8 81147 TESE M8 2 4
9 82202 +HAPRLC MEX12L A ¥ 1
10 87603 A EImF CE5 4
11 85405 E=—JLk—R 10-12 1 £ & : 100mm
12 57339 FrJEA4a—F 1
13 80170 ANATUTARI b MEX40L B 4
14 57341 BF 2
15 88899 HRMRLE M6ex8L EiFRm 1
16 81246 HETES M6 MR 1
17 87115 J— K 4P x455 1
18 87166 A4 YF 15A 1
19 80165 NATERIL F Mex18L BF 2
20 57340 AL YyFITL—F 1
23 57301 E—ER—R 1
24 81019 NAEFYE M6 ZHE AvXx 2
25 02224 4SB E—#% 100V 0.75KW 1
26 80157 NAFUTARIL b M5Xx12L B3 2
27 81112 FhESE M5 B3 2
28 57304 hyFyoy 1
29 57329 R7YUITRZ 1
30 84136 R—=ILRF7 14 6003Z2Z 1
31 57305 hS5— 1
32 84283 7Y RES AW03 1
33 80178 NATUTARIL b M8X25L B 4
34 84273 7Y UF R+ v k ANO3 1
35 57303 7545 v b 1
36 57330 Y ALFL—F 0.5mm 1
37 57120 FETA 1
39 70151 TESE M6 /ML 4
40 81062 NAEFY S M6 —FE B 4
- 88446 Z2L—) 1
#8 57300 PS300 EREhERAE 1
#8 57308 AA wF (No. 2, 11, 12, 15~20, 24) 1

EHH 2022/12/15



N Ty — @ Asada
/31 7Y — 300, 350, 350M 1R &S & URIERE &

I H 2017/03/01



N Ty — @ Asada
/31 7Y — 300, 350, 350M 1R &S & URIERE &

Ref.No.| =— KNo. EiRE B wE
1 70251 b$7° W47 3.5m
1 70252 L7 W47 h 5m
2 57415 IRk Fs
3 58610 W Ry MEOHE (M) #R
3 58612 W Ry MEAHE (L) 48
5 82276 + /P 0 M5 x15L #yt
6 58510 PANE Y
9 83373 ATy7 t Y SSP-10

71117 N A Y-DZFN {9 320% 8 LI
71118 N A Y-DZFN {1 380% 8 LI
10 71119 N A Y-DZFN {1 440% 8 L
71120 N A7"Y-D T FN {2 490 x 8 L
71121 N A47"Y-D T FN {2 530 % 8 1L

70288 N A7 Y- ZHY Yyhy- 320
70289 N A7 Y- ZHY Yyhy- 380
1 70260 N A7°Y-D ZFY Yyhy- 430
70261 N A" Y- ZFY Yyhy- 480
70262 NA7°y-D ZFY Yyhy- 530

12 86501 5F1yvF RH24

13 86502 Fryonvh I 35-25

14 86053 Aot 13

15 57504 KEL

16 57503 PS300 - 350 BuikiiBAE
17 57335 s NNINE Y

- 57404 N AT Y=Yl

RPlRrNRRPRPIRPlao|lalajan|lala|jo|la|c|k |k [N|F |k k|- |-

- SS0573 PS Asada Y-l

#H 58524 B4 7 L-H4E 200A (No. 4~9) 1
#H 58534 B4 7 L-HE 250A (No. 4~9) 1
#H 58532 B4 7 L-+4E 300A (No. 4~9) 1
#H 58706 4 7 L-ME 350A (No. 4~9) 1
- PK0106 P300 fRE15E 1

—2- T H 2021/05/25



N Ty — @ Asada
/1 7 — 300, 350, 350M EEE—5%—E

T H 2017/03/01



N Ty — @ Asada
/1 7 — 300, 350, 350M EEE—5%—E

Ref.No.| =3— KNo. EiERE B i

1 58835 FTETA 1

2 83026 AFTYLVHTEY ©5x30L 1

3 83079 RATYVHTEY ©3x28L 1

4 58811 hyFyrvy 1

5 20209 F— 5x5x13L (Kh) 2

6 58873 FSA4T %2k g
7 83332 C 21k H-35 1

8 84136 R—ILRTF 1) >4 60032Z 3

9 58849 PPy 1

10 58810 BiRhS— 1

1 84276 7Y RFTv + ANOS B 1

12 84286 7Y TRES AW0S B 1

13 70328 F+ 732 OA-W1609 1

14 58887 XY —XKIK g
15 81195 [EHhEE M4 A yF 1

16 82238 +HRMRC MAx8L &R 1

17 58828 26T ¥V s
18 58848 FYHZ 1

19 80234 NETIRIL B MEX15L £ B 1

20 84102 R—=ILRAT ) >4 60022 1

21 58845 F—HEXY 1

22 58846 PS350M34T ¥+ Gt
23 83322 C Fik &8s S-16 1

24 84131 R—ILART7 1 >4 6001Z 1

25 82278 +M/palC MAX8L A v 4

26 58888 ALY FHIN— s
29 58841 J— KR A s
33 80520 H &S5RI+ MAX10L 2

34 58837 TJL—hRAL Yy FHhi— Gt
35 58847 AAYFHIN—TL—FB Gt
36 82232 +HERNMRLE MAX20L A vF 2

37 87921 JREJ L—H BKS2-20 1

38 58840 g HN— s
39 58884 Fr IR ¥a—F A | % No.13 28T
40 70437 BURHEF 2 —J HST-Mx 13 1

41 80237 RATUTARIL B M5 x55L 4
42 81112 I$hEE M5 2% 4

43 70869 PS350M X T—%4 100V Gt
44 81230 miF4afEE 6 1H 4
45 80170 RATYIRIL F M6 x40L BF 4

46 58825 FYHy—R D/ — 1

47 84136 R—ILRT 1) >4 6003ZZ 1

48 70800 PS350M E#F 100V s
49 84170 R—=ILRAT 245 620022 1

50 70799 RILExv v T 2
51 70797 PS350M :—7RK U RIF Hiap it
52 70798 PS350M R FRILA et
53 — FEAH/N— 1

54 — [FREEMENDMILC 2

55 82200 +HRMRLE Mex10L B3 4

56 81225 EES M6 B 4

57 58830 E—HFHh/N— et
58 81114 [FHEE M8 2 4

59 80179 RATMEARIL F M8x30L B 4

60 70795 PS350M E—4 100V et
61 — IV FAN— 1

62 — BRiIMR L 2

—2_ T H 2017/03/01



N Ty —

13 7 — 300, 350, 350M

@ Asada
EEE—5%—E

Ref. No. a— FNo. e B %
64 58875 BERLAYF—IL 1
65 58876 JL—AhL—I 1
66 58886 EEIL 1
67 87945 AS2 R4 yF 12A 1
68 58889 J—F#& C g
69 81148 FEE 8-22 B 4
70 58843 K884k PS350M i
71 70520 128y 9 44 T30MR 1
72 82175 +H_R/hRLC M4x8L B 1
#H 58900 ERENER 350 EHERY 1

HHH 2017/03/01



